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問題描述：

問、

V1 t

V2 t

V3 t

=

L1 M12 M13

M21 L2 M23

M31 M32 L3

=

d
dt i1 t

d
dt i2 t

d
dt i3 t

如何各列各行對齊?

解答描述：

答、A1

V1 t

V2 t

V3 t

=

L1 M12 M13

M21 L2 M23

M31 M32 L3

=

d
dt i1 t

d
dt i2 t

d
dt i3 t

\left[\matrix{{V_1(t)}\scr{1.5}{V_2(t)}\scr{1.5}{V_3(t)}}\right]
=\left[\matrix{{L1}{M12}{M13}\scr{1.5}{M21}{L2}{M23}\scr{1.5}{M31}

{M32}{L3}}\right]
=\left[\matrix{{d\over{dt}i_1(t)}\cr{d\over{dt}i_2(t)}\cr{d\over{dt}i_3(t)}}\right]

A2:

V1 t

V2 t

V3 t

=

L1 M12 M13

M21 L2 M23

M31 M32 L3

=

d
dt i1 t

d
dt i2 t

d
dt i3 t

\left[\matrix{{V_1(t)}\scr{1.5}{V_2(t)}\scr{1.5}{V_3(t)}}\right]

=\left[\matrix{{L1}{M12}{M13}\scr{1.5}{M21}{L2}{M23}\scr{1.5}{M31}

{M32}{L3}}\right]

=\left[\matrix{{d\over{dt}i_1(t)}\scr{-0.1}{d\over{dt}i_2(t)}\scr{-0.1}{d\over

{dt}i_3(t)}}\right]
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